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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / R=afaf@a & & i a1 FyT T 22
1. Growth is only a mental process. / Jig Hac TH AATHS UlRAT ¥l

2. Heredity doesn’t affect on learning process. / 3feaifRieh 3Tt ufshar @ genfaa g s
3. Development is only a quantitative process. / IR hdel Th AMTCHS THhaT T

4. Learning is a process of behavioral changes. / 31T caraeiRes aRadat &1 gfkar &

Correct Answer :-

« Learning is a process of behavioral changes. / 39T zamaeRes aRadar & uforar &1

2) How many clinical scales were there in the original Minnesota Multiphasic Personality Inventory (MMPI)? / H& A AedhaE
A sl (THTAdiang) & fFas defas dae a2

1. Nine / &t
2. Eleven / 7aXE
3.Ten/cH

4, Twelve / I

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / #l &1 vs Rator &1 Ao Rgua 7@ §2
1. Proceed from known to unknown. / S| A1d I 3IITd CARCIR dedl %I

2. Proceed from simple to difﬁcult./Eﬂ' RIRESE @' Ffsa & 3'ﬂT dgedr %l

3. Proceed from complex to simple. / St Jfeal & TWel fir 3R T&ar &I

4. Proceed from concrete to abstract. / 31 Yl Ee) qJ&HA fr 3R Fear 2l

Correct Answer :-

« Proceed from complex to simple./Gﬁ Sfed @ W & 3T dadr %I

4) Inclusive education is currently a strategy of education based on the based approach. / THATaR e adAE F renRa gfeaior
& IMUR X e i wF wEfT 7l

1. Sympathy / elgHfd
2. Charity / e

3. Apathy / SRl

4, Rights / 31IHR

Correct Answer :-

« Rights / 3SR

5) Gender Schema theory was introduced by . / T ¥ (S w=hrem) Rigara F Z‘@RTER—T—_I.,H'ﬁﬂJTW oT|



1. Jean Piaget / S\ TUaTS

2. Kohlberg / Fﬂw‘f

3. Erikson / UReFH=

4. Sandra Bem / QTIQTE)?T
Correct Answer :-

. Sandra Bem / &8I 9

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is ./ AR & ﬁz}:m * HJHR, AT
A & FAST R F AT qeW 3UgEd e gl

1. curriculum / UT&IPH

2. students work together on the task / ST T W Th Y HH P %I
3. students” individual work / BTAT & TIfhed B

4. traditional teaching / TRUR@® frefor

Correct Answer :-

« students work together on the task / &1 P W Th T HH %I

7) What are tests that rely heavily on language based reasoning called? /

XX qaToT AT Fgena § Y AT IR aFURFT W R ¥
1. Accuracy tests /Uﬁ'ﬂ@?ﬂ Iragor

2. Culture fair tests / HEP e Agqel gdraTor

3. Verbal tests / FIT&H T8I0

4. Nonverbal tests / TTchTcidh URIETOT

Correct Answer :-

« Verbal tests / Qe qdreqor

8) What aspect of personality makes a child more likely to be outgoing? /
wfFdaca & 5w gge @ ae4 & mseasar (Reeh) g f werraen a9 St §2

1. Extraversion / Elﬁ?i'@?ﬂ
2. Introversion / Hﬂ?i'@HT
3. Socialisation / THTSIRIOT

4. Neuroticism / EW

Correct Answer :-

« Extraversion / aﬁ%’@?—ﬁ

9) Bandura’s 4 principles of social learning are: / THIOS FITA & E§TT ¥4 ﬁzg.n?r 50 YR §:
1. Metacognition, Attention, Engagement, Motivation/ m%m, T, S EICH ORoTT

2. Retention, Cognition, Attention, Motivation/ gfaYroT, 34'@3@, <1, YOI

3. Attention, Retention, Reproduction, Motivation/ €T, gfauroT, g, o

4. Attention, Engagement, Collaboration, Motivation/ ®T, J$Td, ﬂ%tﬁT[, RO

Correct Answer :-

« Attention, Retention, Reproduction, Motivation/ €JT, gfauro | Uoleld, oRoT



10) Adolescences form their own image and integrate their own ideas as to how they wish to be referred to, this is SRR 39 TaT i oY g9 §

3R 3T FE F AR B g w0 ¥ F 3 P we wehid @ aea § 9% Feen &
1. Crisis / H&HC

2. Ego identity / 37€ Ugdm

3. Ego ideal /37% 3mgel

4.Ego / 3&

Correct Answer :-

o Ego identity / 3% Ugd

11) At what age does the child learn to control the expression of emotions? / T3 T AT F AT FET IO R g # dgar &2
1. Adolescence / foRMRTaEAT

2. Birth to two years / = & &l ¥ d&

3. Late childhood / T% aTegraEm

4. Early childhood / URTH® STeamaeam

Correct Answer :-

« Early childhood / YR arearawar

12) Which of the following theories acts as a bridge between behavioral and cognitive learning theories? / FIfaf@d & & Fia- &1 Rigtned syagr 3ilv
AT Tt Riguial & dia va A 1 F1H FIAT8?

1. Humanistic theory / FTTdTATG (?{Hﬁm) e

2. Cognitive development theory / TTeTcae e fagled
3. Social learning theory / ATToN 3 fAIH RAgled

4. Existential theory / 3Tdcd [agled

Correct Answer :-

« Social learning theory / HTHTIR 3TTA9TH Rigea

13) Which of these statements is true with regard to aptitude and competence? / $AH @ FIA-UT FYF ANIIAT 3T 47T F T H T §2
1. Aptitude is an inborn potential to do something. / & TA & foIT ATIAT T STeafolld HHEAT (HIAGTHAT) ¥l

2. An aptitude is a developed knowledge. / T9IdT T fawfaa = &1

3. A competence is a part of an aptitude. / 87T Tk JTJAT HT THh feeam &

4. A competence is an inborn potential to do something. / $S A & T &THAT T SedAold THTAT (FIITATT) §

Correct Answer :-

* Aptitude is an inborn potential to do something. / & A & T AT UF SIeHASTd THGAT (Hreferarn) gl

14) Which chart shows that the highest return of investment in education is maximum during the early years? / BIT-T 3@ g2TaT it QFHTEﬁ asf &
R Rem & @aew &1 Reat srfwan §2

1. Heckman’s / mﬂ
2. Wisconsin’s/ fa&aifeae
3. Hurlock’s / &Xelieh

4. Puberty’s / Tigerar

Correct Answer :-



« Heckman’s / %?-FJ\-)?[

15) Who introduced the term L.Q. (Intelligence Quotient)? / fFaer 3m$.#Y, (F5f&r 39eretran) ug ' wfawfea frar?
1. Terman / AT

2. Galton / dreea

3. Binet / =T

4, Guilford / frermIS

Correct Answer :-

e Terman / €3

16) The psychologist who discovered that children’s perception of reality is not learned from adults but is constructed is: / & AAdTAE S aar
T P gedl & aeafasar 1 gRom gIER F A& A S §, AafFe saewr AwTor fhar smar ) 3§

1. Jean Piaget / Sl Tamat

2. BF Skinner / &f T% e

3. Arnold Gesell / 31dTes AT
4. Howard Gardner / 'e'?l?ﬂé' ST

Correct Answer :-

« Jean Piaget / il famar

17) During which stage do children start reasoning? / foh® 3ra¥ar H I aF F@T AR a2
1. Adolescence / fReiRTa®AT

2. Late Childhood / 3R STegraear

3. Infancy / Q=m@TaEAT

4. Early Childhood / qd aTeama®am

Correct Answer :-

e Late Childhood / 3R dTeamasam

18) Teachers should take a/an rather than group perspectives when considering diversity in the classroom. / &1l J

RAraT R AR F@ 77y, e A T FRePT F aom@ e & Tieaor # ea @ aifgel
1. Group factor / HHg PP

2. Opinion / 3if&Ad

3. Student / BT

4, Individual / TR

Correct Answer :-

« Individual / afhard

19) Which of the following is not an aspect of metacognition? / FfIf&d & ¥ 71 THa (ATHTHINA) &1 UH Ugq 8] 82
1. Altering consciousness /el H Tl

2. Revising cognitive strategies /HaTATcH® IUTANTAAT Pr TAMAT FeAT

3. Planning cognitive strategies / HTATcH® IOTAITAAT I TSTAT TATAT

4. Monitoring cognitive strategies / HlelcH® I0TATAAT $hI IR et



Correct Answer :-

« Altering consciousness/Tclell A AT

20) Which of the following is not true about the teaching process? / fRaffaa o Rigror uftrar & IR & @1 o 78 22
1. Teaching is the process with a purpose to bring about learning. / TRA&TOT Ueh 32T & 1Y 31TA9Ta Y U |

2. Teaching does not sway the whole process of learning. / TRregor o 31fQrarar fr @CI‘%F&T el '@?ﬁ%l

3. Teaching does not need a formal set-up. / f1&T0T & forw mﬂmgﬁ'ﬂﬁ Y TAIRAT A6 &

4, Teaching should be centred around student. / TRreror BT & 3MY-UTg Higd %ﬁﬂ'l Ul

Correct Answer :-

« Teaching does not need a formal set-up. / fre7or & forw 3iu=anies gﬁwaﬁrmqmaﬁ%l

21) Which of the following does not apply to the brainstorming process? / fFafafa o @ s faar fawst ufpar & forg @my
T gar 82

1. Generation of unusual ideas. / SFHTI faaRT BT Joi |

2. Criticism of ideas. /ﬁ?lﬁ P ST

3. Associating different ideas to come up with a new one. / 8 & TT1Y 3 & forg fafia foaRt &1 sie|
4. Quantity is more important than quality. / YJJOTa<IT P KL o A 1Y ﬂ?ﬁ'qpf %’I

Correct Answer :-

o Criticism of ideas. /ﬁ?ﬂﬁ BT ST

22) According to Martin and Halverson, when young children observed gender inconsistent behavior, they tend to have:
| FTféeT AR PR F AR, I B qedl A AT F HWI TR T HqAlwa A, Y 3ot I wgfy o
1. A distortion of memory/ THfd Hr fIepfa

2. An accurate memory / Th Héld T

3. A rejection of the behavior/ TTGER &l 3-1'{-7-11?5%

4. An imitation of the behavior/ TTT@R &Y Fehel

Correct Answer :-

o A distortion of memory/ H{ﬁ &Hr P d

23) What problem do children with anorexia nervosa typically have? /TARTFEAT dAafem ¥ AT a=at # [T T F Far e o
(54

1. Problems with impulse control / 39T fAZ=FT & AU FHAEIT
2. Problems with body image /R Ui & @Y FFEAT

3. Reduced physical exercise / & qRING cqramad

4, Excessive eating / 3cafAed HISTd dal

Correct Answer :-

« Problems with body image /R UTdAT & AT FAEIT

24) What is more likely to help a child remember a story by Tagore? / &R CART TH FEEAT T TG WA F 728 N Agg FA A 30T
FHTGAT F4T §?

1. The moral of the story / @l & Afa®w



2. The size of the story / &gl &l AR
3. The font of the letters / 31&RT &T Hiee
4. The colour of the title /2f§eh T T

Correct Answer :-

o The moral of the story / FEIA & Afcdd

25) Eliminating caffeine and sugar from diet before bedtime ensures - / st ¥ Ugal 3ER & FheT 3T AN Fr AT FET @ '\‘_[ﬁﬁil?f
AT &

1. Reduction in stress / dTd 3 AT

2. Good functions of muscles / FFURAT & Q?HT ecapiy

3. Good sleep / TS &g

4. Good absorption of nutrients / QYWeh Tcal @l 3TST aMTOT

Correct Answer :-

« Good sleep / 31T i

26) I-%ow information is typically stored in semantic memory? / 3T dR W 3rfira Wfa (R i) & Se™ 9 audia
gt 82

1. Networks/ ?ﬁ‘fa'iﬁ
2. Skills/ hieTel
3. Tasks /&TaT

4. Groups /FFJE‘T

Correct Answer :-

. Networks/aaaa;

27) Mild retardation is a category of mental retardation having an IQ of . | 9g cal ARI® Hedr i Joft § fored

__ ®rImdEgEael
1.70t0 89 /70 & 89 T
2.20t029/20 & 29 d&®
3.50t069 /50 & 69 dh
4.30t049 /30 ¥ 49 dd
Correct Answer :-

« 50t069/50 ¥ 69 d&

28) To improve the problem solving skills in children, which of the following things can be done?/ T B FHITSH B
AT & I W GUR H & forg, Frafafaa & S o forar s awar g2

1. All of the above / 3URIh THT

2. Invite children to talk or write about ideas only/m AR & IR & ad @ a1 forma & fow a=ai & AeEa &l
3. Ask children to draw pictures for stories only / Iedi ¥ Fhad deladl & forw T g9 FF Bl

4. Use blocks and models only / hael &elfdh 3R ASeT & 3UIET FY|

Correct Answer :-

« All of the above / TR T



29) Inclusive education means: / AT Rram &1 3rf 2:

1. Education for all children in school. / ¥ d 7t o=i & fora fem AT e o7 3ref %:
2. Education of intelligent children. / §fGH s @1 e

3. Education of the poor children / TRY =2t ot fRrem

4. Education of the minorities / 3T &1 &

Correct Answer :-

. Education for all children in school. / Tba & T+t sr=al & forg fRem| gwma=h e &1 orf &:

30) GAD stands for: / \‘rﬁ'@ a1 Ad g:

1. Genetic Anxiety Disease / 3TgafIeh =&dr WM (SAfesd Tomser )

2. Genetic Anxiety Disorder / 3TafRe feidT faeR (SRfew Tomed fEwaiieR)

3. Generalized Anxicty Disorder / FTA=dpd R fIdR (SeReEss Tosdr BEsiE)
4. Generalized Anxiety Disease / ATHATAIGT Idl T (SeRellses Tose! f33=)

Correct Answer :-

« Generalized Anxiety Disorder / AR [IdT TR (SR TaEd BEsiE)

Topic:- General Hindi (L1GH)

1) R & worhfa ufe sme

Tt 9T Fed AYF &, TUER 9 UT|
T 3fd Tq% 59 ufe &, 9 T UY T
¢t g It <t 31, - veTu|
S U AT 3 ¥, W ¥ S urwl

3 37 79 B UISE, T o g IRI¢)

A T 3T B¥ Mg, & 3R 3 gl
IS 4RA At TR R, S AT A SIfE "
ST U B! UgH? T Y 9F 9T Y= $T IR T3¢
W “Sierd UT” BT o ey 82

L - &

2.5 @ FIS G

3. 9T Srefdr o

4. 9T Reerdr o

Correct Answer :-

o gAa-fa &

2) &R & wohfer ofe s

Tt 9T Hed AYP &, UER 9 UT|
39 3ff Tg% 59 U €, 319 T 7y wgTEl
T i S S S, SR veTul
S el &N M &, W fRd Shara Ui
39 3T T B UIgR, Tod 9 g4 WY

A Y 3FfIfY B 3MgH, & &R 3 geTul



060 R oY TR G, S Wl 7 SfE ware|

ST THiY F) UeHR N I@ WM aTd W= BT S«ik gdT5¢|
TY: ‘5P fd IgR g9 e g |/ T Ay 32

L5AH & FI$ T

2. 9T AT T B 2

3. T W Th AL B

4.76 a1 I Ueel § & TN B

Correct Answer :-

« ThH Al d Uge § & A B

3) git & TeFifa g amel

Tl 91 Hed AYPHR P, TUER I YT |

3% Jifer TgR 59 Ul &, 9@ T Ty uea

78 g3 o o 9, SR TeTu

St U AT St F, W R Srera gl

3 37 9 BR UISE, gt o g4 RI¢I

A i SR Y imgH, & ofk 3 gsTul

IS ¢RA ot T8 G, il WA 7 o1E Fane|

IW Ui B UGHR Y IR W 9Td Y= BT Sk Ias¢|
TY: "3 TS Y Tere’ § Mt frw vy Y ok ddba s 2
L. AT ARG A AR

2. @t & ofaw iy i 3R

3.9% & AIALT & UG T [Y H 3R

4. foREY 3R &

Correct Answer :-

. % & Tfaey # ug AW Ty Y AR

4) &R § o ofg smy

Tt 9T Fgd AYFR &, TUER 99 UQ|

T Jfd IR g9 Ul &, 3 T3 Uy T

¢t g ot =t S, SR veTu|

S U AT 3 F, W ¥T St urw)

3 37 79 R UISE, T o g RI¢)

A T 3T B Mg, & 3R 3Ffifa gl

IS 4RA At AR YR, W AT A SIfE Fang

ST U B! UgH? 1 Y 9 9T Y= BT IR T3¢
wY: TR & AR e &1 U Far g A R

1. 13T Gaf &1 g Y|

2.9 i gU o IR U W FIS 3T T 3= &
3.7 & fou fawra aXl

4. TTYH FT T

Correct Answer :-

o UST A gY o 3R g9 W S 3" T 7 S



5) &R & Teifa ufg emul

Tl 9 Hed AYPHR F, TUER I UK |

T 3fd IR 9 ufee &, 3 T3 FY vl

¢ 9SS S I, - veTu|

St UA AT S F, W R Srera gl

3 37 9 HR UIgE, g o g RI¢I

F Y orfifar Y g, W 8k aFifa geTul

IS 4RA ot TR G, i) WA 7 oIE Fane|

SW Ui B UgHR Y IR W 9Td U= BT Sk gaTs¢|
uy: M A fFad Areny A Fo07 B U T/ Ve T var far 82
L. I

2. Pleel

3.3¢d

4. 3rg M

Correct Answer :-

6) R ¥ weFifa ufy am

Tt 9T Fed AYF &, TUER 9 UT|

9 Sifd IgR g Ul €, 39 T Uy uerw)

¢ g3 SR S ST, ST-3e T

St 4R AT S F, W R Stera wmwl

39 3T 7 B UTgR, Tod 9 g4 WYl

A Y ST B 3MgH, & SR 3 geTul

[ URH A I YR, W Yo 7 IS Fe|

ST TiY B UeH] K IR WM aTd W= BT S«ik I8¢l
wY: MG 9 3 a1 Trgd | Y W+ faar?
1. | 3€a B

2. 1€ &g @Y

3. 37 ATHAT HF Bl

4. 3% HTS TJoRTHA &

Correct Answer :-
o SN 3€d Pl

7) &R & Toifa ufe smui

Tl 91 Fed AYHR F, TUER 9 UY|

T 3fd IR 9 ufee &, 3 IO FY v

¢ g S < I, SN veTul

St UA AT St F, W R Srera gl

3 37 9 HR UISE, It o g RI¢I

A i oY B g, & R oA geTul

IS ¢RA ot T8GR, Sl WA 7 o1E Fane|

IWF U B UgHR Y IR W 9Td Y= BT S} Ia5¢|



UY: P01 A MG F AT S-IH TaTY T 71 Haad 82
L. er-geRr fhsraran

2. JAH-TAGNH I DT Pl

3. puTeTfa Y ard A

4, QRS IaTT

Correct Answer :-

o AT-HeYr fHerarn

8) &R ¥ wrorifa ufy sme

Tl 9 $ed AYHR F, TUER I UY|

T 3fd IR 9 ufee &, 3@ T2 Fu weTw

T8 gfS S S S, SR veTul

S Hel &N M &, W R Shara umai

39 3T T B UIgR, Tod 9 g4 WY

A Y 3FfIf B 3mgH, & &R 3 geTul

IS R oY TR G, St 9ol 7 SfE e

SUdTd Ui B Ug@} Y TP oF 9Td YR BT Sk 9a1gl
WY: 0T A 30 gd I R AT 82

1. TS ardl aXet

2.5 & T

3. FeAlfa® FRAS & fow

4, MUY T TTI-TTA ST

Correct Answer :-

9) g & Ireiifa ufg i

W 9Td FEd AYFR ¥, FHER ¥ T

T 3fd IR g9 ufee &, 3 T3 Uy vl

6t g2 ot St 3, SA-e veTu|

St UA AT St F, W R Srera gl

3 37 9 HR UIgE, I o g4 GRI¢I

A T oY B Mg, & 3R i geTul

IS 4R ot TR G, i) Wl 7 oIE Fane|

ST Ui B UgHR Y TP W 9Td U= BT S} gas¢|
UY: 3 UG F ofd H Wy g i’ / wfa &1 o ared 82
e @ffa &

2. fafad=

3. hfofea

4. Aearg

Correct Answer :-

10) &R & IeFifa ufe amgi



Tusht 9T Fgd AYFR &, TUER 9 UQ|

T fd IR g9 Ul &, 3 T3 Uy T
¢ 9SG A Wi IS, - veTu|

S U TN M &, W R Siara umgi

3 37 79 HR UISE, T o g RI¢)

A T 3T B M, & 3R i gemul
ST 4R ot TR G, i) Wl 7 o1fE Farg|
ST U B! UgHR 1 Y 9 9T Y= BT IR T3¢
UY: 39 UG B YYa eg T B BT 7 o g2
1. fSae® @ g & B

2. foae #a R & #

3. ST 7T R A& T R

4. AT P FE AR ST

Correct Answer :-

o AT B Bl AR AT

11) &R & wrorhifa ufe sme

T 9 HEd AYHR F, TUER I UY|
T 9fd IR 9 ufee &, 3@ T2 FY weT@
Tt gf oIt =it I, SR vaTu|

S el &N M &, W R Shara umai

39 3T T B UIgR, Tod 9 g4 WY

A Y SFff B 3MgH, & o 3 geTul
IS ¢RA At T8 G, S AT 7 S1iE Fane|
SUdTd Ui B Ug@} A IR oF 9Td YR BT S} 9a1gl
UY: 39 UG # IR-aR gl fhae! oer 82
1. R &

2. 91eT St @l

3. fasoy &

4. HIOT Y

Correct Answer :-

12) R & wrorfifa ufe sme

HETt 919 TEd AYHR &, AR 99 UTg|

3@ JAfY TR g9 Ul &Y, 8F ¥ Uy uge|

¢ giS W S IS, - veTu|

Ut ¥ AT 3 P, W R Srera wrwi

3 37 9 BR UIgE, gt o g4 GRI¢I

A T oY B¥ M, & 3R i geTul

I R TR R, S WS A I Fee

ST Ui B UgHR Y IR W aTd Y= BT Sk Ias¢|
WY 39 Hfaar & TYHY Weg s e vy gon @2
1. #R 3R M gRr 3€a & fow; aat & w6 @



2. 0T i IRRF & fow
3. haer 8k & fow
4. $Id M} gRT 54 & ferg

Correct Answer :-

. #R 3R M T sga & fow; At & W R
13) R & wrorfifa ufe sme

i 91d Hed AYHR F, THER TS UTI

T 3fd IR g9 fee &, 3 T3 Uy vl

¢ giS W S I, SN veTu|

Ut ¥ T 3 P, W R Srera wrwi

3 37 9 HR UIgE, g o g4 GRI¢I

A T oY B M, & 3R 3 geTul

TS R ol T R, S i A S weg

IW Ui B UgHR Y IR W aTd Y= BT Sk g5y
wy: 5 ara 3 M 35t et & f &1 & fFare
1. AT-Tar &1 fay

2.3gd & AHAS IR AT W G701 fr a@

3. g7 § fa=r

4. grAToIR faRry

Correct Answer :-

o 3€d & IEEAT 3R A9 W Fumor i @

14) &R § rorhifa ufd s

Tt 9T Fed AYF &, TUER 99 UT|

T fd 792 g9 ufe &, 9 T Uy Tl

941 gfS SR S ST, ST veTu

St 4R AN S F, W R Shera wmwl

3 37 79 BT UISE, Ted o g4 IRI¢I

A T 3T B A, & 3R i gemul

TS R oY TR G, S Wl 7 SfE ware|

ST THiY F) UgHR A I@ WM 9Td W= BT 3wk gqT5¢|
wy: R A T 7 3T fhant it & ur A e
1. JoRTH Pl

2. GeTAT &Y

3. 37T I

4. 3gd @

Correct Answer :-

o 3gd @l

A F $ GAN A a8 rar F 3 3R N wnt § T eyl 3 A Fed § 3@ - Il g O A, W W A9
lmr:mmwﬁmm%aﬁréﬂmmmaﬁmﬁaﬁﬂﬁ-ﬁmmm%wma@,m?r,a°r€-h11'
T gafeT AW 931 B S S0 # feg-afa @ wAeR R s g, waﬁﬁl—uuﬁrwmﬁm%lsﬂwz’rﬁﬁ
%

2



fe-aegeT @, qoe R, aerAE @ Ao, #E @ ateer ;R dtesw s B st @i ey ot R 3o, s e, R w e e, R e
maﬁrmmmm dtear AT s frar ik &Y o1l 9% w9 Rwen AR IeeT 7 @wrar 9 sefav 3@ 3 w AR oyt F Fust sk amreeh-wd
mwwmlm#aﬁgﬂmﬁ m#wmmﬁmmmﬁmmm#mmmm*mmm|

AfFT 3w @ BT 30 formar smwsr FT @ §, SHHT FAT FROT §7 A A ¥ W g qech ¥, 3R Ant ugrd gryr am oma ¥ swfAvw aw A AW s
AT AR, mmﬁﬁa?mﬁawmgﬂmmmmﬁlaﬂWanﬁr anfea: aﬁ|mmmmmﬁmmﬁmaﬁwm
5| WA #1 3 g § B Wt A e g @ A 3o aned fgget @ A W Bew & amant @ St aequiiees, s AeRdaeht AR smar

ﬁhﬂqmméﬁvwnﬂwmmamﬁ?mmzﬁmﬁmaﬁ,mmﬁmmmw#mmﬁﬁﬁw
HAT AFAAE? $HET Aded dF I8 8 e § 5 A1 F ae T UROT X o 9% RN ¥ 4RoT FW |

IYYFA AGHRT FT TGH A G AT YT FT 3o} IR0l
geeT: -0 &7 g fre W o smar 82
Lel #

2. fplt & a&F

3.8 WX

4. 7Y W

Correct Answer :-

o I A
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I 3R wAT S S I dteat R slioe frar 3k @ w1l 9% w9 e A3 seeT F @9rar anl sefav 3w 30 W oA o & Fust sk ame-wd

fEsR 3@ @ fFam o & 95 30 wATa g, m#wmmmmmmmmﬁ*amrmmm#mmﬁm

ﬁﬁﬁrmﬂmgﬂmmwmi,mwm%?ﬁgm%ﬁﬁ?mﬁﬁ%,&hﬂm&mﬂmmﬂhﬂﬁnm#ﬁwmaﬁr
A A, ﬁtmmﬁarmﬁamrméﬂmmmmilaTHanﬁr aifea: anfea:| #a1 @ B sorFa agae iR gafSeare #r a3t @@t g @
gl WA &1 3 g § B Wt A auaw gl @ A 3o aned gt @ A sw Ry & aman §, -t aequiees, s AeRdEeh AR smar

mtwmﬁﬁwmﬁmam#mWWWﬁmﬂﬁ T 3 Y et I A e A W wwd € v aw
HAT AFIAE? SHE Ade df I8 8 Whem § 5 A1 F I T 4ROr X o 9% RN ¥ 4Ror F]W A

A A A Inar 3 3R 30 vt F 7 greewl 3 A Fed § 3@ A A Ao WA #, W W A9
A

I9GFA AGHRT FT TGHF A G AT YT FT 3ca} IRl
W el sl H frwn fF angee & squr @l Asy faeafafda 2

1. SRTR



2. oo
3. ¢
4. dla

Correct Answer :-

a7 F Fo gAw A a8 arar & 38 3k 30 vt § ¥ wEeewl 30 O FEd € 3@ oA i wfoeg O F, B W A-
s gl wee qow foan wwa § Ak 3% ont 3w wue @ FEd § ol a4 ureht sl § 3R serw qu, wewe, € AR
mm%lﬂmmﬁm%?ﬁmmmwﬁ?ﬁéﬂﬁﬁw&ﬁr mﬂﬁmm%mmmuﬁzymﬂmasﬁwﬁﬂ#
m?ﬁﬁuﬁmﬁwa‘awﬁm%lﬁ T

@s # & ggrar § 7 91 Tq B} aﬁ#%ﬁwﬁh;ﬁw—wﬁr@jﬁmﬁmaﬂ?maﬂwwmﬁ?mmmn’s’atrtﬂmmmﬁm‘r
AeF-aege A, I B, gorAet @ e, w5 @ ateer o R dteaw s B it wim deY aet R 3er, s e, R e e, R e
msﬁrwmﬁmwa‘rmﬁr{aﬂmrﬁmaﬁta’rmlwwﬁwmmwmmlﬂﬁwwéﬂwﬂﬁm#mmmw
ﬁwsﬁwﬁr«lm#ﬁ%ﬂmﬁm#ﬁmmmmmﬁwmmﬁ*mmmm#mmﬁm

ﬁmﬁ#ﬁwgﬂmmwmg.mwm%?ﬂﬁgm%ﬁwman;m%,sﬁtmmmmm%lmm#ﬁwmrﬂ
AT A, mmﬁﬁﬁmeheraw?ﬁﬁwmmﬁlsﬁwam e anfea:| #am A B serwa A R wAfSeare # 93t w9 g W@
gl Fgare &1 3 9% § B wl A s ol @ A e wnuerdY Reaet @ S 5w Rww & amad ¥ St wequiee, I Aedash AR e

m#mmiﬁwmﬁmamﬁmWWHmﬁmaﬁ mmﬂﬁmﬂmﬁtﬂt#wm% R 7%
T WFAAIE? SHET Aded A A8 @ FHaT § B A F aAT T gROT FX P 9§ BRI FI GROT W A

IEFT RN F GGHT oAl IF AT WA F e} IS

we: 3 fRE daar & wne R gEe sl fawen e aa #?
1. R s

2. el ST

3. 70T S

4.3 S

Correct Answer :-

o O SN

aH % Fo woEs A @ B 30 sk 30 wnd A T weeewl 30 @ wed ¥ 3w oA Wl wlvee Wt A, W W A-
mﬂmmﬁmmﬁ%aﬁr?ﬂmﬁmmaﬁvﬁ%mnﬁﬁmﬁﬁ%ﬁrma@w LRI

e 30 Frwa a1 Frew a3 T
@a #1 o ggrar & 7 91 Tq H} aﬁﬂ%ﬁmﬁh%ﬂw—mﬁvﬁﬁmﬁmaﬂémsﬁﬁ?wmﬁ?mmm n’gmtﬂw T R,
fers-geaet 9T, qore fFan, a9AE @ e, w6 ana s e B dleaw aiee B st aim e gew R s, e o, ﬁr{'mﬁm R s
maﬁrwmﬁwm dteat R sioe B skt @ w1 a7 w9 Rwer A seor 7 ovar an safav 3w 3 WA ot & Fust s st
fres 3% qu R 9@ @ aF 38 W g, W#ﬂmﬁw%ﬁw%ﬁmsﬁrﬁ#mﬁmmmaﬂaﬁmﬁm
afr 3@ A v 30 frger A # @ §, g T4 wRor 87 A gom ¥ B s g wodh ¥ AN A gt g o o ¥ sefow @ A R s @
ATH AFT, mmm*memrm?ﬁﬁwmmymam aifea: e w7 9w B sroree avdae S waftca f o @9 g @
gl aFgare #1 3 9% § B wel Ao e ol @ A e angard) Reaet @ S 5w Rww ¥ amad ¥ St wequiee, A Aedasht 3R e
m#mmiﬁ?wmhwﬁm#WWWMﬁmaﬁ IR 3% A it 3 AY 9 F A e €, AR T
&1 AAE? SUET AAE A T8 & W § F a1 F A w9 4RO FX o aF e § 4Rer #¥ A

I9GFA AGHT FT TGH AT IS AT YA F 3ca} IR

wReT: 3T S H 3 ReT-RRee aaTE FT 3TEE AE?
1. $gd HYOUIEE

2. el AT S

3. hael AXeGed

4. 304 |t @

Correct Answer :-

30) g § ey afy 3o

A AT FEd AYF &, FAMK TG T



¥ i T ga afed &, 39 % Ty gen)

w8 & T A 3R, SR o

Ft sk @er AT &, W R S g

I AT AT I AR, T I g W

a #t aeifa wY amga, 3k e gem

T 7 at F@ [T, A g T AfE w@ww

IYYFA TEHTT P TgH A Y& A qT T FT Scal TSI
veeT: MAAT R F 7471 92 A N 9T FT W@ &2
1. TSt

2. fager Afa

3. el

4, 3nfdew Afa

Correct Answer :-

Topic:- General Sanskrit(L2GS)

1

)
gt gfScar g2y gsgd_gcdi oI -

FAELTH 3T (AT | e, 9 Serfd @6 ool &g9H uq | 37 Ta
TaETEy W 3l fafEdn: @gan dear va uieEn: | uid: gaE
3¢ATd Ulh U9 3cUTdeIH | U9 Ul 3o o 3hAfd | eiErd
figed: sl ‘gl?s\‘* sl IRAN ededd | 37T gRI Iad A-HA Gg:
TaEA: Il T AT | AN Ao hISvT gIe UH | AT #isied
Shedl Godl: Iesy: (ASY:) AR | IE Codl: fHaem: safed a8
sl 3y THgh Tafd | AsHE Held: T Wogd | s
3T hIST aT el SToled U Bl #afd 31cl: Welelloledd STel o
U |

foAemar voret va Ugl AT s Aedcd#H | HIll diedl dalg o
IfIdedd | Hal I dadedd ¥ aRded I | 8 Uid: ST ATH
THATH, | Gelllad @ifedeanta | gd: @ 7 faafaeas | gemar awon
ar fehe g o giadea# |

‘OTeh * Scged At o fasifaa: wateder ?
gdrar

1. <



2) :
Yellehl afScam reNfAfisera Teaed YA Fadd -

ATTEd ﬁ?@lm?:ﬁ EIF'E;: AIfed canfagaT ﬂ'g[:l

AT gFaAr &F FHaon AEHaidl
3eA: Aed 9 g afFd: wreha:|
YSd IF Ided IF &a: TGl

“GAIGTA” SO dR: e -

el
=

e

4.
Correct Answer :-

3.

4 HH

Correct Answer :-

| HEIH

-



4)

UTade UTScar UeTEy ﬂﬁdgrdi T -

EIELTH 3T (AT | de Taar SETfd & e <g2e Uq | 37d Ud
TAETEy W 3l fAf@ar @aan @er va aeeEn: | ua: g3
3¢ATd Ul U9 3cUTdIH | U9 U Ao o 3ehATd | eiiErd
feigeet: fcar <€ Uad ARIAR eced# | 37l §RI Arad, T CE:
TqEA: FA: T HATd | TEAN el HISOT gIe UIH | fAcT s
Fcal Godl: Aesy: (AZY:) AR | IFT codr: Adam: s@fea &
Hisld 3l THID Tdfd | ASHE Held: T Woad | IR
3T hIST & Feal STk U it $afd 3Tcl: Weldllelead STol o
qTdc e |

foremar verd v UEY AT GASh AeciedH | HIGH Fhedl Hald o
afddedd | Hal Hcd dordedd 9 IRded I | @ Uld: $eaiEd A
FHAIH,_ | Helllel Wiiedeant= | gse: a7 faafiaeas | @i awor
a1 e g o gfadead |

‘UEY  5cOEg 3 & ?



eelleht gfScar renfAfésera Ieay Agaccl YIId -

AT oAl see: A1fed canfaaar Ry:|

AT gHTAT fHFT Haon At
3 Ted 9F gig: AfFda: qwha: |
¥3d IF dded dF od: GGl

39 FHGRUCHTET -



uf=ae gfScar geaey ﬂr.gaj,cdi qIad -

EAELTH 3T (AT | dg faar Sorfa ¥ o« <gdH v | 31d uq
e W 31t fof@ar: gaA: d@ar va ureen: | e gaed
3¢l b UG 3cUTdedH | U a0 3eled o 3hAfd | g
fAqcd: #fcal UG Udel IITAY Iecdcddl | el g I AHA e
T T T HAld | AN, Iefocd HIiSoT geed 9T | AT sior
fedl Codl: Iesy: (ASV:) HAGER: | I Sodr: fAder: safea a&
IS 3eY WHIh Udfd | GRS gels: e Weled | Surme
AT HIST aT Fedl AT Ul Flead Hafd 3d: Weldeled] ool o
UTaeae |

fARMAT vorA e Ugl WA udseh Aedcd#H | #Hlolel Shedl Hald o
aifddedd | a1 I dadedd 9 IRded T | 9 Uld: $aET oA
FHAAH | Bl @ifedeanta | gee: | & fdafiaesd | e areor
ar e eaef 7 gfideas |

TR ST 9 & ?



Qellohl Ufacar refafcsesa yeaey ﬂﬁgmi eI -

ole, HIAH RaATTdHeHTH |
HIGRAh: GI0g: AN JeTATA I
fordeta & qeea giadar fanfae |
HEARRE e ¥ fg de1 fasféaa: |

“HIAd” S UGET JgaaTRgAREd-

Yoliehl UfSear srenfAfeseey Teaed YgHcc Jadd -

8)

cole, HICAH EaATTaAHTH |
IR AR UIUS: AU TeTATSI I
fodeta o1 qeeeT gfgdan faafeer |
FEARET e ¥ f& do1 fasfeaa: o

3T “RIde” sfd deeu faeivomugaAtEd-



Correct Answer :-

9

)
URTIE UfScaT WA YGHH AT -

TAELTH 3T (AT | dg, fa=T SeIfd |9 o <@ Tq | 37 'a
TR W 37l fAf@an: HaAn #@ar va g | gaed
36U Wb U 3cATded# | Ud auld 3Meed o 3MhATd | e
figed: #ea &f__,lTsT Udel SAGAN Iledcdd | 37T gRI Ilad ST-HA Gg:
TqEA: FeT: T AT | A el HISUT gael WA | fAT #lste
dhedl Godl: Iegy: (ASV:) AR | IET odl: A safed a8
sl 3l TFgh 9dfd | ISP Held: T WoAgd | O
Hedl HIST al Pedl AT U Flicded dafd 37d: Welelleloa Sfel o1
UTITH |

foremar v e UEl WIS GhSHh IedcdH | Hilel dhedl Hand o
aifddedd | Hal 8 daddd gH aided I | 8- UId: $3aET A
THATH, | Felllal @ifedenta | gt @ o faafaeas | @ wor
a1 fdehe caef & gfadca# |

fora 37T TAfRET 2

, FaTEeTH

Correct Answer :-



eelieht gfScar srenfafésera Teaey Ygacal YA -

ol HIeuaA EaaifddeaAaH |
HIIRAH: GI0g: AT TeTATSI I
fraea & qeee gigdar faanfae |
HEAEN ate: | & de1 fasféaa:

AR aY Gedl UY: 3R gfddare-

e



= gfdcar geaed ﬂﬁ@rdi qaad -

3EA, IR: 99dT: JaT: Ae: T Hied | IS JIAUS YASY: HAfel:
afd dar agATfeed 87dfd | IaT FARY AT STel TAAfAhaEIgFcle
gi¥catelel Ygi¥d #1afd der Sefaed safd | aer gafon arer: safa
dar gREen: dafd | Usq: ardaor Iar e Hdfd dal AsHAIeled
#afd | vd Afaedsi SerregargAe=ana sfa faarfa afea | vay
ﬁ.a'éfrg 3MERIST TR0, TARBIRUEROT ¥ 3Ted T8
IERATIATT FAd| 3T Afdeaey faeegor gfaueE: safea
M sifaarfgalcdifasa | B Adedisi & 3ER 3id Ichzdd
eI 8787 Hiodl | TaHe{el: A FAIRARCY o FHATHT
3URATCELY UAHAGR Tiefed | Taad Iehceicay I iehaeatd
3NN Fefd SN | Shelfdd TTaCATAFIATT HROT #afd | el
STefotiael gl Hafd | I Alfled o TFEafd T STelsllaed RIIR]
JEH T ddd | 3Hd: TRATEEIUE HGedeh Hafd |

UELEAT: hel #HITa?
| FOe
N CHNGIED

, ey

. LT

Correct Answer :-

. gefey



deled:

Correct Answer :-

4.

13)

eelleht gfScar srenfafésery Ty Ygacal YIA -

ATTEd ﬁ?\?:lm?:ﬁ ElF%g: ATEd cATaEAT ﬂ'g[:l

AT gHaAr f#F FHaon AFHaidl
3¢TA: Aed 9 gig: erfdrd: TRIsha: |
¥3d IF ddded dd ca: JdGd|l

SATACATT ISASAY 3¢ Aleceidfd -

gallenl gfscar srenfafeseey yeaey gaga;cdi T -

14)

oie, AT TeaafdaeAgH |
FAIARAh: TUS: AT TeJATSI |l
foraeta &1 qeeet gfgdan faanfeE |
HEATEUT a¥c: F & oo fasfeaa: |

FIITHF: UIUS: 58 T UIUTHG I -

IERIEIE]

1 -~






=i gfocar yeeaey ﬂsgaj,rdi qIad -

3EAT R gaar: JET: ed: T Fled | FaT qYAvSe gHE: Afcle:
#afd der agATfded #idfd | JeT TWRY Y STel TARfAhaedIFde
gidateleT Ugfd s1afd dar Stemfasd safd | Jar gafon arer: safa
dar gREenen: #afd | e ardraior Iar 3ifde #afd dar elecAtoled
#afd | vd AfAdsi STerregargAfesana sfa faarfa afeg | vay
fea@y MERISTY TS0, TRITIRUERT g 3ifed T
HERATIATATT AT I Alfeleaed faHeUoT gfeaeE: safed
BT AfGaRdieaffiaed | S Adealsi S 3R 3fd Jchzad
TEd 8787l Hiodl | TaHeIGT: AT FIRANCY I[g FHATHTAT
3UERATEYY UAHEN Wiefed | VaHd Jeddeieay Taiahaeetd
3L HEf HANATRRT | Fhelfdd STaaeaiaFaaAf HRoT safd | 3T
Sletolidel @Rl oafd | I Afdled o Grerafdd aF Sefoiiaeis] JRITTR
@R T add | Hd: TRATEETUTH HGTeh #afd |

IARITANRIH ITERH, IFTAHY ThfAcTead?

3. EET|
, TEST

Correct Answer :-



Correct Answer :-

18)

= gfdcar geaed ‘ﬂﬁﬂrdi qaad -

3EA, IR: 99T gaT: Aeg: T Aled | IS YAUS gAY HAfelT:
Hafd deT agATled aiafd | JaT TIRY AT STel TERAfAhaedIFde
gi¥catelel Ygfid #1afd der Semfaed safd | aer gafon arer: safa
dar afiEnen: dqafd | eg: ardiaer Jar 38 safd dar eegAlfeled
#afd | vd AfAdsi SarregagAfewana sfa fqafa afea | vay
ﬁ.ﬁﬁg 3MERIST TAAUI, AR IRUEROT ¥ 3T T8
IERATTICATATT FeAd| 3T AfleaETT TUHTUTT FfoueE: safed
BT AfFaRdieafded | BEn JAdearsf S 3R 3fd gcrzad
T $1&TehT Hiedl | TaHelal: ATHAI FAINAECT [ AT
SURATCELY UAHABR Tiefed | Uaad Iehcdeicay THiahaeatd
3TN Fefd HeINARRd | Shelfdd TTaEATAFIAT HROT iafd | el
STetoliae gy s7afc | I Hifcled o FFeTai oo STefotiaeis, JRTTH
QA T ddd | IHd: TRATEEIUE HGedeh Hafd |

SferoreiT R sratar?

19) .
3eieedy o geH 3eTgd = ?

uq
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ad
2.
3. ﬂ-

3

4.

Correct Answer :-

20) .
eellenl gfdcar srenfaféscea weared Agdacal aad -

cole, HAIAH RaATTdACTHTH |
HIIRAh: TI0g: AN JedATId I
fordeta o1 qeeet gfgdan faafeer |
HEARRT RG: § & o fasfFea: |

qIUSgedloed: 56 o AF: 3id 3ufgertd -



Yol ufsear sreifafésera Teaed Agacel FaAd -

ATTEd ﬁ?\:ﬂmﬁ EIF?:I: Aifed canfagaT ﬂ'g[:l

AT gHTAr fF7F FHaon At
3¢TH: "igd 9 g AfFd: IIRA: |
Y3d I dcded IF ¢a: HEd |l

eTNcFIcar Ry sAfea -



Yeliehl afScar refAfsera Teaed YGH FaId -

AT ﬁa:qmgq‘[ ElF%g: ATET cafag#T ﬁ'Cor:I

AT AT & FHamon Aaefdl
3¢gA: ded 94 gig: erferd: TIhaA: |
YSd IF dcled oA &aa: UGl

“§sd” sfd ey Fl-uldese: 3Ted -
e+Td

ys+d

Y5450

yS+5d

Correct Answer :-
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uR=oe gfocar yeaed ﬂsgaj,cdi qaad -

FAELTH 3T (AT | de Taelr SeTfd 84 el g9H Uq | 37d Ta
TeeTEd Wi 3t fAfEdan: Fgen d@ear va ureen: | uid: gae
36T Wb U 3cATded#d | Ud auld 3eied & 3ThATd | dtEnd
flged: #fcal ‘x{gl?s\* Udsl IAN ededd | 3T gRI I1ad A-THA Cg:
TEEA: Il T HAlT | TEA Ao ool geed 9T | A e
$hedl Godl: Aesy: (ASV:) AGER: | IE Codr: fAder: s@fca a&
IS 3&Y WHgH Al | WS gels: e Weldlud | AR
AT HIST a1 Fedl AET Ul gloia Hafd 3d: Yelsdefed] oIl o
UTaeae |

[T worA va Ugl AT Gdseh AedcdH | #HISld Shedl dald o
aifddedd | TaT I dadedd 9 IRded I | 919 Uld: a3 A
THACTH, | Bellld @iiededn= | gse: @ & faralaeas | gemar qwon
ar e =g o gfldeas |

CHISET: | 3T & U ?
, g
ZQIIIL

del

3. =

,, H

Correct Answer :-



Correct Answer :-

28)

URTSE ITScdT TR AGHH AT -

3EA, IRA: IddT: e e T Hied | IS JFAUSS YAeY: HAfcleT:
afd dar agAled s1afd | JaT WA Y el IARfAhatdIFd=
gidateld Ugi¥d #1afd dar STeAded safd | aar gafon arer: safd
dar UREdERr: safd | ereg: arde]er Iar g dafd dar AscATieled
#afd | vd AfAdsiy STorregargAawana sfa faarfa afeq | vay
feaay mERIST A0, ARPIRERT gfvd: 3fea o
FERATIIAT F2Ad| 377 Afceaey 3ifawwdor gfouerE: safed
T AT | BE: FAeedisf S 3R 3fa Ichead
T #&TH Hicdl | UaHe{el: ATHATT FAINARCT [ GAATATEA
3URATEYY UAABR Tieled | Taad A ieay THTIhaeatd
3UARN FHETT el NATed | Pt SAGCATAFIHATT HROT Hafd | 3elel
STefottael g:@ehl afd | I Alfled o TFEAafd T STeasliaed JRTIRT
@R T ddd | 3d: TRATEAETUH 3T 7did |

AT HROTH 3¢ #afd?



Correct Answer :-

29)

U=adc UTScar UeAEd ﬂﬁd;cdi A -

3EA, IR: Y4dT: JaT: e T Aled | TS AFAUS gHeY: HAfelT:
#afd daT AT siafd | JaT WY Ay el THRAfAhaedIFde
gidstel Ygf¥d #afd dar Stefalsd safd | aer gafon arer: safa
dal UREEAR: #ald | esg: didiaor Iqr 3fde #afd dar AsgAl ol
#afd | vd AfAdsi STorregargafeara sfa fqerfer af=a | vy
fEaay 3MeRIsf fFsmle, FRTgRERoT gfva: 3ifd 787
IERATIATATT F2Ad| 3T AfaET AR SfoueE: safed
AT AATRACATAT | B AFealsi ‘S 3R sfd Tohead
eI 8787l Hivdl | TaHGIGT: ATAI FIRANC [ FHATHAT
SURATEIY UTHBR TEfed | T Jedcdeieay IHRIi=haeatd
39U HEf HANAIEd | el STaaeafaFaAf Hror safd | 3@
Stefolidel g:@ehy $Tafd | T HAlfeled o FFTafd T STefotiaeis] HRITAD
@R T dd | 3l IRETEETUH 3H1aedsh Hafd |

gt ‘3fdaifed:’ UGET Ugledl ThATEd?

e

1. &

, $EPH

, ATfe=aa

Correct Answer :-

| 3G
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3.0~
4. C

Correct Answer :-

Topic:- Social Science (SSC)

1) Who said that, “The President occupies the same position as the King in the British Constitution”. / fa= g1 u1 %, “fafe=r wfaur & wgufy, wen &
FH AT 760 Heam ¢ IV

1. S. Radhakrishnan / TH. LIPSO

2. Dr. B.R. Ambedkar / 3T, #.37R. 3FISH

3. Dr. Rajendra Prasad / 3F. qoleg, UHTG

4.V.V. Giri /& @, R

Correct Answer :-

« Dr. B.R. Ambedkar /3T, €1.37R. 38T

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / 1§ HgHg = HIHATY HidR U= gHaT foram 4T, 31 GUY [oRTd &1
TS P UT?

1. Bhim Dev / /& g

2. Mula Raja / eIl ISl
3. Siddha Raja / Rrg =TT
4. Kumar Pal / AT dTel

Correct Answer :-

« Bhim Dev/ #i&T g

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty? / fFafead ¥ & snfea S 931 & Yewig
3N WTE PT AHSRT B AT 22

1. Gol Gumbaz /Th?f THS
2. Juma Masjid / SITHT &g
3. Taj Mahal / dISfHgd

4. Qutub Minar / g R

Correct Answer :-

« Gol Gumbaz / TTidl T[FESl



_____inthe Constitution set forth the humanitarian social precepts that aim at social revolution. / Jfqu= & q AHGaard Are
@%\fﬁ it Y Fruffa fRear Rt I3za e Hifa 81

1. Right to Equality / T&ear &1 AR

2. Right to Equal Protection / §T H&T0T & 31K

3. Right to Education / fI&T T 31f&R

4. Directive Principles of State Policy / I5a & ifa fA&erd dca
Correct Answer :-

« Directive Principles of State Policy / Tsa & #ifa A& aca

5) The test that predicts the performance of individual in a particular field is: / QﬂT ﬁ&fUT i fpdt fagy aﬁ T s 935217{ Gl q@fﬂ'ﬂ'ﬁ
PRaT 8:

1. Diagnostic test / =gTfeieh TI&TOT

2. Prognostic test /T—ﬁTfJTIT-T gdtator

3. Achievement test / 3UTdT T1&ToT

4, Teacher made test/ fI8T gRT foRam Ir=am GdYayor

Correct Answer :-

« Prognostic test /gaTATe TLI&Tor

6) Which among the following correctly represents the Honduran Emerald? / Feafaf@a & ¥ sl ar 31§T|7-|' THITeS H WEl g §
e &2

1. A beach in Honduras /%’igrm #F wh qdg dc

2. An endangered bird of Honduras / @W &I Th o[aurd gait

3. An ore found in Honduras / ??@Tm F RN S aTell Th 3IEh
4. An island in the Atlantic Ocean / 3cdifed HEHTR A THh ﬂq
Correct Answer :-

» An endangered bird of Honduras / W &l Th Jqurd qsft

7) Pohang Iron and Steel Company is from which among the following countries? / fAFfaf@d & ¥ MeHT IR vz T Fu= Hy v
Ll

1. South Korea / &f&I01T sIRm
2. North Korea / 38X &IR=m
3. China / €1

4. Japan / STTOTe

Correct Answer :-

« South Korea / &f&I0T IR

8) Hubbert peak theory is related to which of the following? / gea¢ R@X ﬁa’}l‘lﬂ' Fafaf@a & ¥ o gefa @2
1. Currency Trade / Hdl <IUR

2. Petroleum / USITIgaT

3. Metabolism / TATTTT

4. Nuclear Energy / UYL )



Correct Answer :-

« Petroleum / UeIfora

9) Who is the administrative head of Prime Minister’s Office? /qﬂﬁﬁ?ﬁ' FRTIET & THAF ‘Jl'{-l;@' Cacy %”
1. Prime Minister / TTAHAT

2. Principal Secretary / 9T AT

3. Cabinet / #AXHASST

4. Cabinet Secretary / A AT

Correct Answer :-

« Principal Secretary / W4T T

10) A type of evaluation which is used to improve and monitor the progress of students and teachers is: / Tsh YhR HI W g s
Bt i Rrart #r garfa F gur 3k et & e R smar g

1. Formative evaluation / TaalTcdid Hgdiehed

2. Norm-referenced evaluation / AT HEfHd Hedidhd

3. Summative evaluation / ARMcHAT Hedidhd

4. Criterion-referenced evaluation / AIGS HEfAd Hedidhd
Correct Answer :-

« Formative evaluation / TATcHS W‘ﬁﬁr

11) Mind is a ‘Tabula Rasa’. Who said this? / AT TH ‘AT T@’ (Tabula Rasa’)§ 9% frasr Far
1. Immanuel Kant / $HTITeT FHc

2. Michel Foucault / fARYer gept

3. Friedrich Nietzsche / SF8Reh =fIcar

4. John Locke / Sl olich

Correct Answer :-

« John Locke / ST oich

12) Before Ashoka became Mauryan king, which province did he serve as governor? / F AR e g9 F g RE wid # UsIdrer
F A FE QD

1. Taxila / 3&7frem

2. Vaisal / IS8T

3. Pataliputra / 'TI'dT»ﬁ'g’:f
4. Ujjain / 35ote

Correct Answer :-

« Taxila / d&7fRreT

13) The First Factory Act restricting the working hours of women and children was adopted during whose time? / Afgenait 3 s=al & @
& "el &t yfaefa & arer ggen FREET FfRFww Fed aw@w § e @ e

1. Lord Ripon / s Ru=a



2. Lord Lytton /i$ forea
3. Lord Bentinck / oi$ dfeen
4, Lord Cornwallis / oIS hleraTiord

Correct Answer :-

e Lord Ripon/ s Rua

14) The term Isostasy describes: / SI:HT:I_)T*IH’ reg fAFeT &Y carEAr FaT ¢
1. The state of disruption / TaeresT & Fafa

2. The state of balance / 'ﬂﬂﬂ?f & Ryfa

3. The state of uplift / 3¢l & AT

4. The state of subduction / fAFTTEa= Fr Fufa

Correct Answer :-

« The state of balance / FIT:!T»IFT $r 'ufa

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired the liberation struggle of Bangladesh and was
adopted as the National Anthem of Bangladesh. Who wrote this song? / #Rd F Tageft e & e AW arv g IR AR ST
A FERer F A F Fu¥ & IR T 3 3 TTaer F TSET W F T A IJ9A T4 g Ma e o §2

1. Michael Madusudan Dutt / HTgehel AYHGA
2. Mukund Das / 31'3‘?\' o

3. Bankim Chandra / Sfpa ?-IZ‘.\"

4. Rabindra Nath Tagore / gy &R

Correct Answer :-

+ Rabindra Nath Tagore / IdgeTa E9R

16) The coral reefs are the marine counterparts of which of the following? / YaTer e Aforai, Aeafaf@a & ¥ Fad '\qﬁ?ﬂ' gfagsr §72
1. Savannahs / ZSUTRCIdT 1 AT (TaTAT)

2. Scrubland / &jqi’@ (Thacis)

3. Temperate forests / GHAMATCOT T

4. Tropical rainforests / SFusfeddty auf.aq

Correct Answer :-

« Tropical rainforests / SFursfeddty auf.aq

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? / gFaflieq fa3Td Fade yRug (i) #r
e I8 ua ¥

1. Delhi / fgalt
2. Jaipur / SIIYY
3. Varanasi / aRTOTHT
4. Kolkata / ehielehTaT

Correct Answer :-

« Delhi/ feeel



18) Ajanta Paintings represent the scenes from: / 3rsidl & R e & weat & gafa &
1. Jatakas / STepTcl

2. Mahabharata / AGTHART

3. Ramayana / THATIOT

4, Upanisads / 3ufaug

Correct Answer :-

« Jatakas / STl

19) Which one of the following aroused a wave of popular indignation that led to the massacre by the British at Jallianwala Bagh? /

i # & f5a & J ST I B TE AT F & STEE FROT S @R FAfiaren aEr A aTHER gI?
1. Government of India Act 1919/ ARG TR AfATAIH 1919

2. The Rowlatt Act /& Jelc Tae (hTell Plele)

3. The Arms Act / 34 Jifafaga

4. The Vernacular Press Act/ Z|F|SIZF<’-]\T~IT U9 TaT

Correct Answer :-

« The Rowlatt Act/ & Jelc Tare (hTell PIele)

20) Which one of the following is not a method used for the assessment of personality? / Saf¥ded & 3THhalel & AT IUAT A A arelt
Rfr Pl & @ sia @ a8 &

1. Project method / 9ISt fafey

2. Projective method / eyt fafer

3. Objective method / Eﬂﬂﬁ'g af
4. Subjective method / FeAas _Af

Correct Answer :-

« Projective method / geydy fafer

21) Which is not a third Century BCE stupa? / el ad1edY $6T qd 1 T[T HiaT AT 71 82
1. Dhamek Stupa / TH® ™

2. Kesaria Stupa / HaRAT FT

3. Amaravati Stupa / 37T T

4. Sanchi Stupa / RIE]] X4

Correct Answer :-

« Dhamek Stupa / 9T T

22) Which is not a structure in the premises of Qutub Minar? / Fad AR & R & *iF & sw=ar a6
1. Quwaat ul Islam mosque / Hcdd Sl FEITH ARG

2. Alai Darwaza/}l?*ﬂé cXdrait

3. Aibak’s Magbara / Ue/dh T HBaRT

4. Tron Pillar / & &PT THT



Correct Answer :-

+ Aibak’s Magbara / U &I HBaRT

23) Which is the first Biosphere reserve in India? / 1R & Ugell SRIFARR R4 (W@ Sawiga) siq ar &2
1. Sunderbans Biosphere reserve / W—"f TARBRR g

2. Nilgiri Biosphere Reserve / Hraf safeesR Rod

3. Nanda Devi Biosphere Reserve / '_‘ET w WW ﬂTrIa:

4. Gulf of Mannar Biosphere Reserve / HAR 3 @@ TR Rord

Correct Answer :-

« Nilgiri Biosphere Reserve / Haf™t saferaR Red

24) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / ferll Tasr Riame@ & AR L2 EAC IR a g
& fov wu¥ fBFr ar

1. Samudragupta / HIZICT

2. Chandragupta II/ W II
3. Chandragupta I/ ?E\?IV(-T 1
4. Skandagupta / W‘@Vd

Correct Answer :-

« Skandagupta / W?I'ch

25) Which of the following is metamorphic rock? / fAFfaf@a & ¥ sEaia geem i i &2
1. Marble / I

2. Sandstone / Se]3T U

3. Mica / 33

4. Schist / ¥

Correct Answer :-

« Schist / R

26) Which among the following was the last European country to rule Goa? /
frrafaf@a & & aar w araer F@ aren sfaw U A wia @ e
1. Netherlands Fﬂaﬁ"s'

2. England / 33013

3. Portugal / gé'm?»r

4. France / i

Correct Answer :-

» Portugal / g%‘ﬁ"l'l?‘f

27) Which among the following is known as “Coffee Port” of the world? / Ffaf@a & @ 5 RQeg & “Hih N’ & T & =T F1ar
&

1. Santiago / Hfe3man



2. Santos / ¥
3. Rio de Janeiro / R 31 SIaRT
4. Buenos Aires / 18 Y

Correct Answer :-

« Santos / derF@

28) Which metal was unknown to Harappans? / ®ie &Y T ¥ g3ouA AT A?
1. Bronze / &I

2. Silver / Tald

3. Copper / €T

4. Tron / ofig

Correct Answer :-

« Tron/dlE

29) Which Constitutional Amendment Act removed Right to Property from the list of Fundamental Rights? / fF@ denfae s
sfafagw a gufr & sfer A AfvF sftwRt & = § g far

1. 42nd /429
2. 415t /419
3. 46 / 46T
4, 44t / 443
Correct Answer :-

o 44t /a4

30) To promote equity in agriculture the government had introduced system where the maximum size of land which could be owned by an individual

is fixed. / F # Froqaar s qom@aT & F AT w@ER F ___ yonelt % # o, Gwed vw afFa q@n waftgd g &1 sftwan ser e #)
1. Land ceiling / {7 &ifeier (efz #ifor)

2. Land reform / 3f& gurR

3. Land Parcel / & o

4. Land fixation / f& fAdior

Correct Answer :-

« Land ceiling / f& #ifer (efs difern)

31) Second five year plan was popularly known as ./ s gy Ao # AT w A & TH F @ e
1. Gandhian Model / Ifratdr Aser

2. Nehruvian Model / SeFaréy Aise

3. Mahalanobis Model / Herea g Ao

4, Harrod-Domar Model / R15-813X Aol

Correct Answer :-
« Mahalanobis Model / FeTaI g Hiser

32) Match the educationists with their contribution. / RI&TIfagl #T 3% IRERT T FemT LI



Educationists Contribution

a. Lev Vygotsky / Toig i. Project Method / Wiaiae
ElETlIn:EaY afer yofasar fafEy

b BF Skimmer/ & ii. Constructivist Learning /
. TIAEET 3TEeTH

¢. Kilpatrick / %ﬂ-@m iii. Jurisprudential Inquiry /

TAERRT d@a A=

d. Donald Oliver & James P. Shaver | jv. Programmed Leaming /
[ SieTes 3Mfera 3= or. FFRAGE IEEH

My

1. a—(iv); b — (iii); ¢ — (ii); d — (I)
2. a— (i); b— (ii); ¢ — (iii); d — (iv)
3. a— (iii); b— (ii); ¢ — (iv); d — (i)
4. a—(ii); b— (iv); ¢ — (i); d — (iii)
Correct Answer :-

e a—(ii); b— (iv); ¢ — (i); d — (i)

33) Which is the process of assessing the progress of learners by identifying areas of difficulties through diagnoses and remedial actions as part of the
instructional process? / R&UcA® 9fFaT & RET & w0 # [Aee 3R STERCAS FET F ACIA F FEAFA F & A ggue w6 RanfAt fr gafy w1
el Pt Y IFHAT F4T &2

1. Summative Evaluation / ARTca® e
2. Final Examination / 3ifder odiem

3. Integrated Evaluation / Thigpd Fediehet

4. Formative Evaluation / fa@Toncads sgaica
Correct Answer :-

« Formative Evaluation / fdToncaes aedin

34) Which is the forest conservation movement in India where local people prevented the cutting down of trees? /R & HleT AT T TI&TOT JHiSIeI=T § el
FYET AN 9= F Fea ¥ Qw2

1. Bhoodan movement / @Il 3figreled
2. Cooperative movement / HEhIRT 3iiereld
3. Consolidation of land / #f3¥ &T Tehre<oT

4. Chipko movement / fRIger 3nieters

Correct Answer :-

« Chipko movement / RIGe! 3netes

35) Which of the following is the correct psychological way of proceeding in Social Science teaching? / frafaf@a & & ¥ genfae e Reor &
A g &1 3RT AMATAE adw 2

1. Difficult to Simple / HfSaT & Tl
2. Concrete to Abstract / HT & 31T
3. Unknown to Known / 3=Td & STd
4. General to Particular / ST ¥ fafkiy

Correct Answer :-

¢ Concrete to Abstract / EFL?i’ q W



36) Which among the following is an example for non-institutional credits? / efaf@a & ¥ #la @1 R-vraPET g@ § QAT vF 3gEI0T &7
1. Regional rural banks / &1 Fiafior &

2. Nationalised banks / ITgIgd J&

3. Moneylenders / ATEHR

4, Cooperative banks / TghRI d&

Correct Answer :-

* Moneylenders / HTgHR

37) Which among the following is a non-conventional source of energy? / RFfaf@a & & Fia @1 F91 #1 & N-WREET AT 8?2
1. Natural gas / Urpfaes g

2. Petroleum / UeYforast

3. Coal and lignite / e 3R fovamse

4, Wind energy / Tae it

Correct Answer :-
o Wind energy / Ug=T St

38) Projective techniques are used for the assessment of one’s J e ™ & F Hegiha & fav wAfdeq awelat @
YT R e §

1. Development / fera
2. Personality / S Tthed
3. Growth / Jfg

4. Intelligence / g@'

Correct Answer :-

« Personality / S fthed

39) is a policy which aimed at replacing or substituting imports with domestic production. / wF Ay ¥ e sedeT smaret B e
Feutes & SfAEuia FET A1 age ¢

1. Balance of trade / SR Helel
2. Balance of payment / 33TdTel Helel
3. Export reduction / faaia =gefawor

4, Tmport substitution / 3T Yfa€Aa=

Correct Answer :-
« Import substitution / 3maTd wfaeamaa

40) observed that ‘Social Sciences is perhaps the singular curricular area which can prove to be the most effective tool for providing education in
the context of all the core components envisaged by National Policy on Education.’ / & g B aEniee e, aee The uied &9 § S Rem w
Ty Fify ganr aRwfeda wt FeT aeal & daet A RaT voE T T gEd GAE IUHOT WiRT @ qFar gl

1. National Curriculum For Elementary And Secondary Education (1988) / wrafdies 3R sreafares fiam & fow T areamar (1988)
2. National Curriculum Framework (2005) / €19 Uraaat &Y &0@r (2005)
3. Secondary Education Commission (1952-1953) / #Teafdies f&Tm 3T (1952-1953)

4. A Framework of NCERT (1975) / TaAH1$3MReT i wer &a@m (1975)

Correct Answer :-



« National Curriculum For Elementary And Secondary Education (1988) / arafes 3R ameafde fRuem & forw gy araassa (1988)

41) Who said that, “The United Nations was not created to take humanity to heaven, but to save it from hell.”? | fraer wer &, "Tl"ﬂﬁ' S ATGT HY Tar
#A IR F AT A g T4 g, 9°F W RE 9 F AT qqm@m ;o ann?

1. Dag Hammarskjold / 337 ¥REsies
2. Antonio Guterres / TeIfaal ¥4
3. Boutros Boutros-Ghali / g3 gH1g-HTel

4. BanKi—Moon/ a1 & - I

Correct Answer :-

« Dag Hammarskjold / 377 ¥REes

42) Who was the first Indian to be the Governor General of India? / ¥R & HERISIUT (FTAT eA) T aT Tgel HRAT HieT A2
1. C. Rajagopalachari / @, JrsToNaremany

2. Fakhruddin Ali Ahmed / FETE 3l 376G

3. Lal Bahadur Shastri / oTeT @@lgq et

4. V.V. Giri / dr.dr. @it

Correct Answer :-

« C. Rajagopalachari / &Y. J=tonaremant

43) Who upheld the view that religion can never be separated from politics? / @ 5@ TEHIT F WK @ & 3F F To=fa & Foft sreer A BFar
ST |hd1?

1. Dayanand Saraswati / aTei¢ TREdAT

2. Raja Ram Mohan Roy / I&TT TH Higd I
3. Gopal Krishna Gokhlae / 9MUTel gsoT Mol
4, Mahatma Gandhi / FgTcaT el

Correct Answer :-

« Mahatma Gandhi / FeTcaT ey

44) The process of transferring the income from asset owning people to non-asset owning people is ./ aREa & Arfaw @t # e -
FaIffe are Al & T FAEART F A g gl

1. Vicious cycle effect / gvash gt

2. Trickle-down effect / cusa Rgled (Rdhd-a3 ysmma)
3. Balanced growth strategy / qfeid gfg Iorhfa

4. Lorenz curve / @Il a5k

Correct Answer :-

o Trickle-down effect / Tuda Rigled (fgwa-313 gsma)

45) The Members of Parliament are free to raise any matter that they think is important during Vi ¥ g Tue ¥ gery R st
39 AW F 3o & AT F@AT g § S e oerar § B Aot g

1. Question Hour / T4ThTel
2. Adjournment Motion / I TEITT

3. Half -an-hour discussion / Y g¢ A T=T
4. Zero Hour / [T hTIcl



Correct Answer :-

o Zero Hour / eTbTel

46) Which among the following rivers is most described in the Rig Veda? / @ & ¥ Fla & a0 A F gea 3¥F afvia %?
1. Ganga / I

2.Sindhu / ﬁf‘i_{

3. Saraswati / TXTACT

4. Chenab / RIeE

Correct Answer :-

- Sindhu / g

47) Who among the following is the author of “Ain-i-Akbari”’? / FeR@a & @ “W—?—W’Tﬂ' Crecaacy %‘?
1. Ishwar Das / $%R &I

2. Abul Fazl / 3¢el HaTel

3. Mulla Daud / Hedll &15¢

4. Akbar / 3halX

Correct Answer :-

+ Abul Fazl / 3del Halel

48) is a system where by the farmers pool their milk produced according to different grading and it is processed and marketed to urban centres
through cooperatives. / e Vit SgaET § Sl R 3reer-areT At & AR 9 SeuIfed gy F EUevT aa § AR 9 wewnr afafadt & mmemw
¥ Futd vd agdl Feal A ey A s @1

1. Operation Mantra / 3iTQ &
2. Operation Torrent / 3R el
3. Operation Serve / TR T

4, Operation Flood / 3T Fels
Correct Answer :-

o Operation Flood / TR Tels
49) Which of the following banks installed the first ATM in India? / RFafaf@a & ¥ Fw dF & sRa & ygan vdww vuiRa fFam
1. ICICI / 3TEEN3TEE3TS

2. HDFC / TaEuwar

3. Yes Bank / 39 &

4. HSBC / Tawaddr

Correct Answer :-

« HSBC / Tauadiar

50) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who is the author of this book? / s dF g #ﬁ%

yifRufa®t 3R faAmRIe T Y rsfaat w aaf $3 36 e (W 81 39 e & dWd B 82
1. Bill Mollison / faer aferaa
2. Albert Howard / 3Tedc %'Iﬂ'é’



3. Eliot Colman / TforIe hieldlel
4. Masanobu Fukuoka / ATIg B 31T

Correct Answer :-

« Masanobu Fukuoka / TEHIg B3]

51) The learning strategy which is associated with 5 E's (Engage, Explore, Explain, Elaborate and Evaluate) model is: / Siftrra Torifa it 5
£ & T1Y <Y g% © (JaY, 3=auvl, e, R iR g ) Aisd &

1. Constructivism / TG

2. Social inquiry model / TTHATTNG YOS Alsel
3. Branching programming / @<l YA

4. Team teaching / €131 fy&ToT

Correct Answer :-

« Constructivism / FRTATAIG

52) The process of collecting, analyzing, recording and interpreting information about student learning is known as: / ST & JAftRTH &

fawg & e THa FA, faxafta a3, Reid o= 3R fades o ot ufthar &t 1 w1 o &:
1. Role play / JTd

2. Assessment / 3{Teh i

3. Testing / TR1&f0T

4. Dramatization / STTCh1d FUIR

Correct Answer :-

» Assessment / 3Th

53) To choose appropriate teaching strategy, the teacher considers which of the following factors? / 3Ugdd fRrgror orifa
T ¥ forg, Rrere Fafafee 4 A ey R R AR srar @2

1. Sports/cultural days in the school / Ffel A da/arEpids Gag
2. Visits by inspecting authorities / fa<i&Tor 3ifARIRET gRT $a0T
3. Abilities of the learners / &I fr Mozard

4. Year Plan given by the school / fa@Tera gRT & 718 a¥ st

Correct Answer :-

« Abilities of the learners / fN&TTIAT &1 dvaart

54) The term “brainstorming” was first coined by: / e "fAAR-HY" T UG §1d §RT U fobam Tm T :
1. Osborn / 3iraai=l

2. Johnson / Sitedl

3. Caldwell Cook / STesdel P

4. Bruner / §eX

Correct Answer :-

« Osborn / 3 &t

55) Idealism strongly promotes: / 3ezfarg Tedl = 3t derdl Fare:



1. Source of knowledge is nature / Ui F1T &1 T &

2. Senses are the gateways of knowledge/ TSI AT & gR L
3. Axiological belief in absolute values / TqUf Jedii # STRUTATE fasym
4. There are many truths as there are many paths / P39 ¢ Hifd Pbg I g

Correct Answer :-

« Axiological belief in absolute values / H{Uf&?iﬁ T STRmare! fay

56) To attend the individual differences in the class, what should the teacher of Social Science do? / &1 # gfFqaera ax & AT F
fow, aenfoe faa e #1 e -

1. Uses variety of learning experiences / Tafe=T 31femeT :‘Ham HI SUAT HIAT &

2. Gives different types of assignments / ¥ YR & @ABAAC (FAS) T T

3. Conducts tests end of the week / & & 3 & gdeor ImTSd Har %I

4. Makes sure all the students are present everyday / I& m T ¢ fp gl o W U sufeaa i)

Correct Answer :-

« Uses variety of learning experiences / [affeed 3TfQ9Ta 3@3474}[' HI SUAT HIAT

57) The teacher shows photo copies of the letters written by Mahatma Gandhi while teaching a lesson on the struggle for Independence to: /

e Facaar Fu¥ W 915 gerd g AgIeAT e garT fA@ wv i fr WY Hivar gafaw R &
1. Supplement the concepts with facts / T3l & AT JTYRUNAT Pl Sz & forw

2. Adopt deductive approach / etarcas Tf¥@or 3maa & T

3. Use problem solving procedures / TIETAT FATUTA UFHATT T UANT Fd & forw|

4. Execute a project / URIASAT (Wotde) & s et & forw

Correct Answer :-

« Supplement the concepts with facts / TLAT & T NTUROMAT P Az & forw

58) Who set up the Indian Independence League? / R Taaadr oNer fFaar TG e
1. Dadabhai Naoroji / GT&THTS ARTSit

2. Rashbehari Bose / I@ATIERT @

3. B.R.Ambedkar / d1.37R.3[98dT

4. Mahatma Gandhi / HgTEHT Tieh

Correct Answer :-

« Rashbehari Bose / Wﬁl%'l’fl’ ag

59) EBP stands for: / SaIdt &1 frga &u B
1. Evidence Based Practice / Tfageq %3 fdeca

2. Evidence Based Problem / Tfdseq ¥ Ufeatd

3. Education Based Practice / Tgshral d%s Ufred

4. Education Based Problem / Tgherd a8 Wieeld

Correct Answer :-

« Evidence Based Practice / Tfas=q avs IfFcq



60) Density of population is computed by which of the following method. / STFRIRST & °Td &I Ul A A A o faf gr1 Y oIt %I
1. Female population divided by area / &79%el gRT fasnfara aAfeen Saaean

2. Male population divided by area / &F%hel gRT faHToIT gy STaET

3. Area divided by total population / el STt gR1 Aafaa aawa

4. Total Population divided by area / &%l gRI Aol el SAaEr

Correct Answer :-

+ Total Population divided by arca / &/Fthel GRT TAMTIAT PoT STeverear



